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gory-2;

1 Eeiite ceriierea R R
e s | ) gt (B) S [C) 4 (D] AR
- Category-1 f
30 x 1 Mark = 30 Marks | [A] 57 515 [B] faoi 515t
e e e qeE— | IRk [D] ArRHEADR o
[A] R [B] IG5 [ 15, sReeTe wf @ St 2w A7~ a0 i ¢
[C] W= (D] FIF l CoPTA ALCHIBTAA FLA O ZA—
(RI® RNA-3 15T sttent T 12 | [(AlwleigBa Pt [B] PR P
[A] st [B] s | [C] STRGIEES (ol [D] GICHFE (2PN
[C] ¥=fw [D] AR : 16. P @zl fifife qaz ToRa At AFS 3
Tificeta fom wifawa s s s g | frasd egfen am 9ol & 28—
[A] 01T Sl b P [B] i (51.R.4 revves | [A] erETfEam " [B] D
[C] ©. =t WF6S  [D] @w.a TR (C] 2 @mi3 [D] smifE
DNA Fraafn omfe wifesa staa— [ 17, sifa=iffe aparas sifasera sret frers wfe
[A] @35. f&. 3z [B] €3°(q @ &% | vera afe® za—
[C] =& iz [D] 2.4%. Aew i [A] SfefE [B] SRS
ferifeferm cattom fom = — | [C] A - [D] TS
[A] X FCRIfErs ebem [B] X AAIfere. 2% ; 18. g AT PRGTFA Sfewwa I TW—
[C] X s [D] SHITEI SRR i [A] DICEIFIRE [B] NTI=FIRG
oIEs Feld (@ Frsa (o Wi orat mw e , [C] ARG [D] Zfrswizp
[A] G, [B] S [C] G, - [D] G, | 19, SitRa TreRfss qeaft go—
amﬁﬂﬁammmmmm; [A] *B=  [B]F=® [C] “N=l  [D] “rcaal
E@be e offde 22 |20, @2 sl sigran agetE wEate AR
[A] CATFE [B] (GLANTTS[C] (NOITS [D] SIS | YA SIEG ol ?
. e ofdf AtraeiRa @S e ; [A] AT AW [B] TN AW
[A] 3foears [B] raermizs [C] 3Tt s [D] & 2w
[C] ez [D] T :21 TLE TATOI SRR HaTwa e
Tz fEfafe @m e Twee ? | [A] GRR ['B]@WQM.
[A] c2B35! [B] GiT=iat [ (€] RS
, . [D] caifSSamg
[C) (D) wferera [ 22, wtem > wrmER Sram
TACER ARG ATHGA Fafge 09— [ (A] ' 5 ' S =
[A] @z cofh arat [B] Sitfozs coptargt | : B e
. [C] #rsBA (D] RfESsia
[C] ZwT=i Brat (D] wif3=l i | 55 o
AA G THATE TG A ATE— | = [Ammq'@w[[“ | G &t g ot T
[A] #AofoTi1a Zrteifer [B] wieuemi e : il e %%%[:]@%%@ ofgn
(C] cerafs (D] AE . v ) D] R
AL TR 34 T gE— | . uﬁ? I . RIS ISR
[A] 1A etea STerq (B) f Ty | [A] NS
[C] argfem s=mia ayaara gt (D] o e | . Ll ESh
(C) TR (D] CaTE™
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28.

29.

30.

31.

32.

33.

34.

0000
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00000000.".\k

s Ty @l frgerad o
[A] ffegfem (B) fasfim ’
(C] CPTATHT= (D] cifeama Gramam
TIATTA, AT Az 78—

[A] fmrm% (B] fetamimafam
[C] Feramafas [D] Fe

@ o= w1s w3ree
[A] VitB,  [B]VitD  [C] Vit p

| 35.

[D] Vit C

m“@mmqﬂw%ﬁwmmw 38.

BGERIRISEICE el b R TP Sp—
(we ?
A] o (B] @35 &2 fo
C] €25 TS 97 €T D] Toare @mefE T
Peefet e T —
A] SR geifer sy
(B] Fetaw 2wifer s
[C] «f%™ TEHiR =efen s
[D] TS @ImefE a7
StvR TR Ty (@FABTE FRTES fEe @
7
[A] T TwbIo
[C] F=

(B] ==
[D] Wit=fzt
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|
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10 x 2 Marks = 20 Marks :
TR QLSS ITE T — ‘
[A] 13 FY I&H AL ;
[B] (5¥% €7¥J(~ I3 X |
[C] P55 oot = IR 3
(D] Z=1E= ZICA TIR© TH |
@9 TR (D) ZTE— !
[A] (PP SToPRT 4IGER 2AfFwe wiEe |
[B] fefeoni REM |
[C] IR (CATEH ¥F (AF T |
D] Tz = REA !
*eergs Tfgr Tuizad za— |
(A] ~reR [B] wrcafewa |
(C] goR [D] T :
2 g A W A e e |
7, O g — |
[A) SRR woER  [B] 5% fedl |
(C] Sy ST ™
[D] &yTCEE {15! b

36.

37.

39.

40.

41.

42.

43.

44,

45.

46.

Freramare @mea wtefa 78—

[A] #Aftsta=i [B] @At

[C] (i (D] #elrgz gad ol
qTHA @AfE-aA Twzad 78—

[A] BT (B] fag!

[C) wfem [D] Azl

fraferfare camfb 2o »rme carerm azs e
(A] Grafe, [B] @ [C) A9 [D] #1
A e FwasfE zE—
[A] (TZ TE GO (FAG 906
(B) Hztaaeifa wth

(C] 25 g7 772 Feff+ =27

(D] &= sfotera fagfe @b

T TIACEAAIHA 2AqF! TrET—
[A] 7 [B] W & [C] et
&= zres efa @ —
[A] C,H,0, [B] CFCs

Physical Science

15 x 1 Mark = 15 Marks
GF FIWA = TS T6 ?

[D] comeRY

[CICH, [D]CH,0,

[A]'5 [B]6 [C]10 (D] 12
el afEe R 1@

(A] R [B] &% b1 Ty
[C]fggm [D] T4 geAE
F=

(A] WW [B] ~HETCH ~Afes
[C] A Sfoede 48 (D] e 37
FACHLH TSl (a0 ?

[A] ZiRCgTTEH (B] SiSTs

[C] TewfR [D] ARGIE

T ¢ AFETSA *fE TT—

[A] FRfe=fE [B] sfe=fE

[C] foenfE [D]SW%‘TFSG sife=fs

TS 7 ?

[A] Gz [B]*@% [C]3®® (D] fre=
fafen amg (dte Teom wwyfer el W
o|4F TN ?

(A) 2Rer  [B] Srpel (C]@fe (D)W IH
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S S
[C] , i [D] li |
t t

a=f [ATAs cmaﬁmqwﬁ*{w—ml 64.

ﬂmﬂmquwmﬁmﬂwnzﬁwl
SglE Zre— l
[A] o FIfd® @91 @Y A | |
[B] O GRS 391 3T AMA| !
[C) (st wae (@fds @ual fmreira "‘TW:
BCA | I
[D] (Meribg sy wifaafes area |

[A] Big [B] Excellent

[C] Tragic [D] Terrible

My cousin said, “My room-mate snored
throughout the night.”

[A] My cousin said that her room-mate had snored
throughout the night.

[B] My cousin told me that her room-mate snon‘d
throughout the night.

........‘... ooo
oj‘éﬁj‘p{ 5q F(A—
[A1SO,  BlcH, [c]Nox  (DINI, f 8.« SAC mwfz@;ﬂ
T (AT T oA FFw s 2o | (Al %f)ﬁ;q;, :
[A) RN (B) wizoim (€] @olba (D] @A [B] TeI O S
| ] SATE TAPS HAGLIT T
TR PR HZTTA Aow gy 7o — | [(]I“L%'TW@ ofewgi=g O
[A]40 [B] 32 [C] 36 [D] 80 t [D] &35 AT THARUS ©IL
ﬂﬂﬁm@mmﬁwmﬂmm (ST 59, FrferRe carpfer P w7a0e TAIRA 2
| A | [A] PHOH)NO, I B} :a}CIISOOJ
(A] 3‘3@“3'@74 [B] e | [C] [CuSO,. Cu(OH),]  [D] Na
[C] sRsMiAtetw (D] IRely a | 60. (T ST ufe @b :f?;m “;j;:.%
(P FoTSTE fanfaea coraa wp 2w W | TeTHR U AT R I
T3 TowR— | v wfifrgera fife 20, O3 (D TR
[A] o [B] SRR | (Al B/ B, % § SRR F -3 S
’ E
o T 38 [0) R efmrsere | (Bl E/BR 5 /| E
qumawmmﬁwm@ﬁw%a - R e
o) 2 l [C] E TAR B 9 @A
f 5B G TR T TG A
(A} 2FPRT [B]Rw  [C)@we (D) SR t (D1 /B ®% E B
AR TR fewmrs qa— ;
[A] STfE [B] S i
[C] = (D] sUTRCHIfs l \ ‘
[A] Zn [B] Cu : 15 x 1 Mark = 15 Marks
[C] Fe Al | 61. Select the alternative which best expresseg
b the Passive form of the sentence given. ‘;
Physical Science | The old man is holding the door open. *
| [A] The old man is being held open by the d
| [B] The door has been held open by the ol
S x 2 Marks = 10 Marks - | i
AR Afea @ agascﬂa c¥ta e @ | [C] The door was held open by the old man
F3¢ s{;::qca-qﬁm WS TP | [D] The door is being held open by the ol
. | man
A A | 62. For an honourable person it is difficult to
Al [B] | put____ the haughty behaviour of the
t t f Directors.
: [A] up [B] up with [C] on [D] out
63. TERRIFIC [S¥i?g]
I .
I

[C] My cousin complained to me that her room-
mate is snoring throughout the night.
[D] My cousin felt that her room-mate may be
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snorig throuphout the night,

)
| o Bl 12%  [C] 135 % D] 14%
¢ g ( 470
S, Opposed (o great or sudden ch [Al )|| L (B3] 1] j

ange,

[A] Static IBI Revolutionary 79. qa aifa 155120 12 B aa @3 4ra @ac 14 Gl
[C] Conservative (D] I volutionary 10 T @ fala a2, @1 4 upfoq «ewadl 214 492
ERUDITE |#llf&wie)d| A] 1% e 1] 12% Al
I \I Professional “{l l”“ni”lllk‘ |( I | 3% “lw “)I | 4% “ll\v

i I A0l 1V
[C'] 1 nmagimative ||)| lpnorant 80. 3000 Gl914 9 42(44 M4 12% AH4e 2vd

- Phe mterviewer asked the candidate [A] 7 to 21ca 1080 Glel 24

what district [B] / he came from [C)
I will be leaving for Delhi tonight and
............ to return by this week end.
[A] waiting, [B] plan
[C] poing [D] likely
. The pros and cons
[A] Forand aginst a thing[B] Foul and fair
[CT Good and evil  [D] Former and latter
. The intruder stood quictly for few moments.

. |
|A] 4 B3 s DL 2

81. 16250 Giata aifrs 8% 9 HLqa 2104 73

fiea Aaa 3w 29 2047
[A] 460 [B] 260  [C] 560  [D] 660

82. 9o wuufze #lf® auiaq 440 4000 bia afre
5% bapqf 214 v GpI BLA(] 2 arCaq 1Cd
fofd e e Bl Alca-e

[A] for few time [B] for a few moments [A] 8601 Bt [ 8612 I?I<T>I
[C] tor the few moments [C] 8600 Biest [D] 8610 Biewt
[D] No correction required 83. 93 WEa Al qurad #4es 2000 G1e SIEE

Animals living on land and in water.

5% bapqfw 219 A0d Gl AICAA | 2 TRLAT (0
[A] Ambiguous [B] Amphibian

S it 3@ Gl Altaq?

[C] Amorphous [D] Ambivalent [A] 4305 Gt [B] 430 i
UNREALISTIC |W’<1W§II [C] 4355 Gl [D] 4350 Bret
[A] Natural [BB] Visionary 84. fafm @ e wali@Ts 10000 5r=, 4000 Bt fra
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[A] Permanent [B] Uncertain
[C] Provisional [D] Transitory (Sl WW i _W?
T, [A] 330 Bi=st [B] 430 Grst
. Man has grown so clever that it is difficult to _
see his tricks [GJ/530 bt 2] 631 B
T T bt 5] 85. (@ w 31 brom Rfs wam Rrwor 7% wfe
[A] through [B]into  [C]off  [D]out s ‘\’FI?
Rita is married Bobby. | wf o w35 Brat ata FATA

T Ao A WO TA?
[A] 5% &% [B] 5% & [C] 7% &S [D] 7% =

(.cneral Knowledge

Catetory-1
10x1 mark = 10 Marks
86. faTa (= W@ “2021 Miss Universe Crown”

[A] with  [B] at [C] between [D] to

Mathematics

Catetory—l
10x1 mark =10 M‘lrl\s

76. % @ % am A @ S A 21—

(A] 0.4504500450004...  [B] 0.7307300730007... CSI0o ?
[C] 0.2302300230002... [D] 0.9209200920009... [A] Adline Castelino [B] Sanjana Vij
- C] Vartiak Singh [D] Harnaaz Sandhu
77. 4% SrEm ARANA e [
[A] 713 wrpe sicdl (3] IR 3 Rl 87. GO FMIATHA AW AT Toioifs &
e ¢

[C) 74t «@fb #jeldiean (D] e a SR AR
78. fagmrara e 10% wogm gnqam e | [A] SR wdifou Rew
FATA T T WO LA ? | [B] Srmbw awieton
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[C] ey oy | 94, gl sty SgeffEs FTTTT (3393) iy
(D] east w1 qipane) | e e .
88, At frwre as fsbies sie au e : [A] aifdre [B] *NGE
[A] Yave @y [B] svya M | [C) Rait (D] SRS,
[C] svoq far [D] yauy [ | 95. afeiSbra wfiba qre—
89. @IS wmew-y cwq oA afa swom ] [A] 9ol @ebel fowi (B] «afb B
RIS wEfra stw coe Aty ¢ | [C] @afd srifi Fsias (D] @3l Eoe
[C] ™ Wi -y [D] sttt aired | -
P0. STER (I xTa siew WWrACH (are em\: , ?&\Q‘WE\\ sMrks
b wiRrea SN (T X1 mark =2
[A] s ‘ B] :1\ | 96,30 : 42 :: 56 :
[C] couiy D ! Q. | [A]92  [B]2I [C] 38 (D] 72
91. Ntz D] R | 97. [A] Lower limb (B] Cheek
1. : WF{M AJITR ooy (Constituent As- | [CT Heart (D] Lung
sembly) %% Far7 T T grafee » 3 o8 ‘[A] ol (B] PRT
[A] emmm AT (B] Reobt B } ' o o o
[C] 3R aR/a D] wREs B o . 1€
92. WEHIvs w1 ‘i‘f‘mw! clwm RfWs mf;f;w;: 99.  Only one number does not fit in. Choose
IR o ohewra o ww 0 | one which is different from the rest. vt voeh
[A] 0o [B] 8o [C] ¢o D] vo | [A16450 [B] 1776 [C] 2392 [D}98ws
93. fsfafRe (I A AR T, S ST @ | 100. In the following questions select the pair whi

TN TN oW IR 9 | is different from the other three.

[A] IR [B] Soemm | |A] Cattle - Beef [B] Swine - Pork

[C] Rz [D] weimm : [C] Lamb - Veal [D] Dear - Venison

®eeocccvecrcee | (A XXX XX XXX XXXX)

I.[A] | 2[C) 3.[C] 4, [C]. S [A] 6.[C] 7.D] 8. [A] 9.(B] | 10.[A]
I.[C] | 12.[D] | I3.[A] | 14.(B] | 15.[B] | 16.(B] 17. [A] 18.[C] | 19.[A] | 20.(D]
21.[A] | 227(B] |23. [A] | 24.(D] | 25.1D] | 26.[C] 27.(B] | 28.(B] | 29.(C] | 30.(A]

31.[A, B, C] 32. [A, B, C] 33.[A. B, C] 34.[A, B, C) 35. (A, B] 36. [A, B]

37.[B, D] 38. [A, B, D] 39.[B, D] 40. [B, C]

41.[B] | 42.[D] 43.[C] 44. [A] 45.|B] 46. [C] 47.1C) 48.1C) 49, [A] 50. [A]
51.[C] 52.[C] 53. [A] 54.T[C] 99; [A.l] | ST ] TN

56.[B,D] | 57.[C, D] 58.[B,C, D 59. [A, C .[B,

61.[D] | 62.[B] 63. [D] 64. [A] 65.[C] 66. [D] 67. |B] 68. [B] 69. [A] 70. [B]
71.(B) | 72.(C] | 73.ID] | 74.[A] | 75.1D] | 76.[A]

i
| TYE : Short Method:

.1 _qa3 206
TN 31'0'3 ) 3700 L e e s =
udie 3 6 5 @@ O] epEw MR @i Gl | " 19 00
; - . 0 / ¢
e 202 1 I 6 SAIGE T | : (mo+mxmo)“uy(x“m/“:TTQ“‘:Qi‘T%
<. e 2ea = 0.4504500450004... | 79. B
77. |D) | :
WY @ Short Method :
TR : 3[E Al STEH AL | | = 12x14-15x10
78. [A] | Refrars = (120100
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TX2% = 12% s

sngre -t = 2100 _ 1080x100 _

Pxr
81. [B] 260

AN ;73 faq =

DI |
82. [D] 8610 it

AR © YR (A) =4000(

3000%12

7

3

-
D

T I, | = 16250x8x73 _ 5.1

= 4000(%)2 + 4000(%)

= 4410 + 4200

83. [A] 4305 BI=t
STRILN + S (I WA (P) = 2000 Bivl, I 2R (1) = 5%,
T (n) = 1 IRF, K S (A) = 2

@3, A= P(1+L
100

105
A =2000x 105
q, 100

____;—-——;—;—;‘.‘.‘00000"\\ b

3 awg

Ppeds
100

=8610 b=t

AT IR I —
ST (P) = (2100+2000) = 4100 B, IR 7T (1) = 5%,
T (n) = 1 IR, IM SR (A) = ?

n 5
) 2, A=2000(]+——

100x365

)2 +4000(1 +

100

quh, A=2100

)1

2
10

1
T, A = 4100 (1+i) al, A = 4305 B |

84. [D]

100

T : 1680 SR 124 % =210 i

[42}6’gﬂx

5

2

A

=210
557 2!

|

)

| 470 B! SR AT SIS 1ol T |

210)=
(1680-210) 10000 : 4000 =5:2

mﬁ%ﬂ?w\ﬁé&ﬁ:
! 210
2
X_—
- I SR = [2IO+M 7)
_ (210+420) = 630 51|
85. [A]

100 93

GRS
100 35
100 ?
9= 35><L9£x3

100
=105 5= .. 5% &® A

36.10] | 87.1B] | 88.[A] | 89.[A] | 90.[D]
91.[D] | 92.[A] | 93.[D] | 94.[C] | 95.[A]

96. [D] The numbers are squares of different
numbers plus the number itself.
W ¢ 4 m 6 ¢ 12
\A A l \2
5545 6+6  T+7 848
| 97, [C] : All other are two in number in human body.
’98. [A] : In all other groups the alternate letters are
| in natural order.
199. [D] : All other numbers are divisible by 2.

f100. [C] : In all other pairs the second word is the
f flesh of the first. Lamb’s flesh is mutton.
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